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MEPA un VIKT MER

> MEPA - kpynHenwasi B BoctouHon EBpone komnaHust No KOHTakTHOW pa3paboTke
MO ana NKT

> (OcHoBaHa B 1989; paspaboTtka MO gna mexayHapoaHbIX pbiHKOB ¢ 1993.

> 1200+ coTpyoHWKOB

> 3akasuukn: ERICSSON g AVAYA @ g;;‘:mmunication

Enabling Convergent Technologies®
Alcatel-Lucent

> O65nacTu TeEXHONIONMYECKOU IKCNepTU3bI:
« MobunbHasa nHdpacTpyktypa (2G/3G/4G) N opyrue ...
* WKT nHdppacTpyktypa u pelieHus
* VIHgopacTpykTypa ceTen gaHHbIX
* MoOurbHble MPUITOXKEHNS
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> Kauecteo: kSO TLOGSS cM}n 3 TS e o

W HEVEL Certificate of Membership
> Unen ETSI u RCS ¢ 2010 roaa Rich Communication
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MEP UcTtopum ycnexa




Apple

Market Cap: $262.5B vs Microsoft's market cap: $212.0B

Revenue: $15.7 billion in sales and net income of $3.35 billion in Q2’10.

2"d largest company by market cap on Sep. 24"'2010. 1stis Exxon Mobile with MC $313.6B
Employees: 34,300

OCHOBHbIE NPOAYKTHI:

Macs

iPhone: 17 mnH. yctponcTs 3a 1yto nonosuHa 2010 (30 % npopax komnaHun). 10S - 14.2%
iPad: oxxugaemble npogaxu 22 MnH. yctponcts B 2011

iIPod: okono 20 MnH. B KBapTan

iTunes



Google

Market Cap: $168.2B
Revenue: $13.4B HY1'2010 and net income $3.795B
Employees: 21,805

OCHOBHbIE NPOAYKTHI:
Google search

Google Android OS: 17,2% pblHKka MmobunbHbIX OC. 17,7% k koHuy 2010. K 2014 r. Android
OyneT ycTaHoBIeHa Ha BABoe bornblueM konuvectee TeriedoHoB, Yem iOS

YouTube
Gmail

CornacHo gaHHbIM comScore:

Cepsuc Gmail — Ha utone, 2010 186 MIH y4eTHbIX 3anucen, NPUPoCT 3a rofg - 22%.
Hotmail, npuHaanexaiwun Microsoft - 346 mnH

Yahoo! Mail - 303 mnH



Microsoft

Market Cap: $212.0B
Revenue: $16.0 billion in sales and net income of $4.52 billion in Q2’10.

Employees: 89,000

OSs + opUCHbIE NPUNOXEHNSA
Xbox
Bing
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CoumarnbHble ceTn n briorocgepa

Facebook

“Market cap”: $25B

10 times AOL, rival to Yahoo

500 MIH. aKTUBHBIX NMOJSIb30BaTENEN
US$800 million (2009 est.)

Yuncno cotpygHukos: 1400 (2010)

Twitter
“Market cap”: $1B
Yncno cortpygHukos: 60

“Now shouldn't the value of a company depend on what it produces? It has 60 employees
and loads of messages floating around. Everyone else - those making apps for Twitter - are
making money BUT Twitter! So where does the money come from? Unless Google buys it
and adds Google adds somehow to every message .. no other company could really have a
viable business model around it.

Can you think of any other business model around Twitter, despite its fad-like popularity??
Twitter, which has no discernible revenue, is set to raise about $100 million of new funding
that would value the company at around $1 billion, a person briefed on the company’s plans
said on Thursday.

For context, that is almost double the market capitalization of Domino’s Pizza, which
has 10,500 employees and had $1.4 billion in sales last year.”



HoBble TEXHOMNOMMM " PbIHKA

M2M nnun NHTepHeT Bellen
M2M = machine-2-machine naoes

Bbicokasa nponyckHas CnoCOOGHOCTb CO3aaBaeMbIX CETEN CBSA3M NO3BOMUT COEAUHUTb Mexay
cobon munnmapabl YCTPOUCTB U CO3AaTb MHTEPHET BELLEWN

HoBble BUOEO TEXHOSOMNMU:
3D

HD

HD video conferencing
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